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1p 25 Kies bij    25    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A dependence 
B fascination 
C indifference 
D irritation 
 

1p 26 What is the purpose of Griffin’s softball game anecdote? (paragraph 4) 
A It explains why a growing group of people refuse to upgrade their 

smartphones. 
B It illustrates that it is perfectly possible to live without a smartphone 

nowadays. 
C It makes clear that the internet generation is often inconsiderate and 

rude. 
D It shows that most people rely on the internet as their main means of 

communication. 
 

1p 27 ‘the distance and quiet that replaces constant texting and Twitter 
monitoring’ (alinea 5) 
 In welke andere alinea is een vergelijkbaar voordeel ook al eens 

genoemd? 
Schrijf het nummer van deze alinea op in de uitwerkbijlage. 
 

1p 28 Kies bij    28    in alinea 6 het juiste antwoord uit de gegeven 
mogelijkheden. 
A For instance, 
B In addition, 
C Nevertheless, 
D Therefore, 
 
 

Tekst 8 

 
1p 29 Kies bij    29    in alinea 1 het juiste antwoord uit de gegeven 

mogelijkheden. 
A authority  
B enthusiasm 
C foresight 
D imagination 
 

1p 30 ‘I’m also wired to never remembering important dates.’ (alinea 2) 
 In welke alinea geeft de schrijver hiervan een concreet voorbeeld? 
Schrijf het nummer van deze alinea op in de uitwerkbijlage. 
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1p 31 What is the purpose of the examples given in paragraph 3? 
A to confirm the benefits of planning ahead 
B to express frustration about regulations 
C to illustrate the writer’s dislike of travelling 
D to mock people who make arrangements  
E to stress the writer’s preference for flexibility 
 

1p 32 Kies bij    32    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A Consequently, 
B For instance, 
C However, 
D In addition, 
 

1p 33 Which of the following is in line with paragraph 4? 
A Cleaning up untidy surroundings helps people to clear their mind. 
B It is pointless to ask disordered people to manage paperwork. 
C Messy people are more productive workers than tidy people. 
D Original and inventive thinkers tend to lack organisational skills. 
 

1p 34 What becomes clear about the writer from this article as a whole? 
A He does not take his shortcomings too seriously. 
B He feels annoyed that he is not able to sort out his life. 
C He is convinced that his weakness is a sign of genius. 
D He is relieved that being chaotic may not hinder his career. 
 
 

Tekst 9 

 
1p 35 What is the function of paragraph 2? 

A to explain why the scene described in paragraph 1 is typical for Japan 
B to mention the causes leading to the scene described in paragraph 1 
C to stress that the scene described in paragraph 1 is still a long way off 
 

2p 36 Geef van de volgende beweringen over robots aan of deze overeenkomen 
met de inhoud van de tekst. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Ze zijn vaak zo onhandig dat mensen ze lachwekkend vinden. 
2 Men is erin geslaagd ze even soepel te laten lopen als een mens. 
3 Ze kunnen bijdragen aan het voorkomen van arbeidsongeschiktheid. 
4 Men heeft ze geprogrammeerd om mensen geen kwaad te kunnen 

doen. 
 


